1. 0000000ggooogg

Def.1.1. (0000000000 P8Y.) (0,7, P)00O0O0O0OOOO0ODOO X000 Q
00 F-00000000000GO FOOOOOOOOOORadon-NikedymOOOOOO
ooooo

(1) Y(w)0 gO00000000000

(20 000 BegOOOO E[Y,B|=E[X,B. 000000

00000000 YOOOOOOOO0O0O000 pX|g|0000Gg0000 XO0O0O0OO
goooogo

Ex.1.2. (00 martingale) {X,}n—o.. 000000000 0000 1000000000
000000000F, =0{Xs, k<nl0O0O0D0OO0O0C, 00000 n=1,---000

O C, O ]—"n_l-DDDDDDDDDDDDDDDDDYn:CO-i—ZCka,n:0,1,---D
k=1
OoooooDo

(1) ElY,|=Cy, E[Y2]=C3+>,_E[C3)0D0D0DOO
(2) n<mOOOEY,,|F]=Y, 0000000000

Ex.1.3. X, YOUOOODOUOOOOoOOODO0X=2c0000YOOOOOOOO

P(X=zY =y)
P(X =x)

PY =ylX=2)=

DoOobbod0b0DX =cU0000 YODOODODODOODOODOODOODODODO

EY|X =2]= )  kP(Y =kX ==z)=m(x),
kelmY

Var[Y|X =z = Z (k—m(x))’P(Y = k| X = 2)
kelmY

00000000 EY|X](w) OO
E[Y|X)(w)=E[Y|X =2] if X(w)=uz,

000000000000 partition rule 0 0 0O O
(1) E[E]Y|X]] :E[XADDDDDD
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(2) 0000000 AeBR)O000 EEY|X],X e A]=EX, X €A 0000000
00000000000 E[Y|X]O Def1.1.000000000000 E[Y|G],000
G=0(X)0OOO0O0OO0O0O0OO0OO0O00O

Not.1.4. 0000000 XOOOOOOO f00000000 P(X €dz) = f(z)de O
0000000000

Def.&Ex.1.5. (0000000000000 (conditional density function))
P((X,Y) € dzdy) = f(x,y)dedy 00000 P(X € dr) = fx(x)de, 000
fx(x)=[g flz,y)dyO0DOOO0O0O0O

(1) XOOOOYOOOOOOOO EY|X](w) O

yﬂ%w

R fx(z)
0000000000 AeBR)0000 E[E[Y|X],X € A|=E[X,X e A 0000
000000000000 00 EY|X]0 Def1.1. 000000000000 E[Y|G),
000 G=c(X)OODODOOOOOOoOOO

(2) (1)000 f(yle) = H5¥ 0 X =20000 YOOODOOOOOOOOO

E[Y] X)) =

dy if X(w) =z,

Ex.1.6. 0; >0,i=1,2, [p| <10000R2-00000 (X1, X2)0000000 ¢(ay,xs)
0

1
2roio9/1 — p?

X expq —
{ 2(1 — p?) o? 0102 o3

Qﬁ(lj, xQ) -

2

000000000(X,X,)0000000 (my,me), 00000 A=( 91 FPIL72
PO102 05

0200000000000000000

(1) X1 =20000 X, 0O conditional density ¢(zo|x;) 00000

@)EmﬂXﬂ:nm+oikay—ngmAXﬂXﬂ:aa1—ﬁ)DDDDD
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2. 00gggoooogggn

Ex.2.1. (Invariance Principle, Random Walk 0 0 0 00O OO Brownian Motion.)

(1) 000000000 00O0O0O0OO000O0O0oooOo

(2) D0D00O00DOO0O0OO {S,}000~y>000000000000000000
{X1}200 X = £5,0000X; 000000 N(0,) 00000000000
gdd

Def.&Assumption.2.2. (1) 000000 {X;}>o 0000 FX =0{X,,u<s}0000O
{X;}>o0OOOODOOODOOOOD0OO0O0O0000D0000 fO0O0000O s, t>0000
goooobbggggg

E[f(Xs-l-t)"’T;(] = g(Xs)

00000000000

(2) (00)000FX0000 X,,,00000000000000000000 (Def.1.5.).
00000000(1)0000000 #,yeR,0000000s,¢>00000 p(t,z,y)
ooooo

P(Xopr € dy|FY) (W) = plt,z,y)dy  if X(w) ==
= p(t, Xs(w),y) (2.3)
000000 s=00000
p(t,z, y)dy = P(X; € dy|Xo = ) (2.4)
(=P,(X,edy) 0O0OO)

O000000000p(t,z,y) 000000 {Xy}>o0O0O0O0O0O0000O (transition
probability density function) 0 0O O O

(3) 0 (24)000000000000O0O0O00O0ODOOOOODODOOOOODODODOOOO
(2.3)0 p(t,X,,y) 000000000000 X.00000000 (2400

P(Xgyt € dy|F)(w) = Px(w)(X; € dy)
0000000000 O00DOoD fOoO0O0O
Elf(Xot)| FX (W) = Ex, ) [f(Xy)], P-—asw. (2.5)

000000000 [00,00000000p24/00000000000000O0O0O



Ex.2.6. 0000 OOOOOODOOOoOoboODOO

(1) E[B?] = (2n — D)'t*, E[B '1=0, necN.

(2) 0<s<t0000B,-B,0F 0000000

(3) E[B.Bs| = min{t, s}.

(4) {Xt}i>0 O {Fi}—martingale D00 D000 0< s<t0000 E[By|Fs] = Bs, P-a.s.

(5) 00 y>00000 B) = £B,00000{B}» 00000000000

Ex.2.7. 000000
(1) 0<s<tO000O0B,=y0000 B,O0000O0000000 f(zly) O

flely) = Lesp{ =gy, (= 5) )

t
D0D0000000c0000000
(2) 00000 E[B,|B,] = §Bt 000 Var(Bs|By) = 5(1 - ;) ooooo

Notation.2.8. D0 0{B;};»00000000F =0{B,,s<t}0000000000
+000000000

1 22 1 @22

Notation.2.9. 00 g(t,z) = e, gtz,y)=g(t,y—x) = e+ 0000
V2mt V2mt

Ex.2.10. ()000000000x>0000000000000000 (0,7)00000O
00 hit0000D000000 {infye,r Bs>0}0000

xT

Py (infieom Bs > 0) = / g(t, y)dy

—X

O00000000000000000 AT,z)DOOOODOODO

h(T h(T
@ tim "0 ) gpp g M08 goooo
T—o0 T z—0 T

Ex.2.11. z,y >00000z >0000000000000000 (0,7)000OOOO
hit0000 B, edy0000000000 {infoeor Bs >0, B;=y} 00000000
g

Py (infse(o,1) Bs > 0, By € dy) = §(t, z,y)dy

goboboooobbodo



3. U gdoooogggooooggogon

Def.3.1. (instantaneous mean, instantaneous variance) 0 00000 {X;}>0 O
E[Xipn—Xe| Xy = 2] = a(t,2)h+o(h), B[ Xepn—Xe?[ Xy = 2] = b(t,2)h+o0(h), h—0
0 0 0 0O O instantaneous mean a(t,z) 0 0 O instantaneous variance b(t,x) 0000000

Ex.3.2. (drift 00000000 ) Xy =put+0oB, 000000

(1) 0000 {X:}t>0 O instantaneous mean a(t,x) = p 00 O instantaneous variance
b(t,z)=c00000000000O0O0O0OO

(2) D000000ODODOOCOOO

Ex.3.3. (Ornstein-Uhlenbeck 00 ) X; = e 'B._, 00000000 Xo=0000 X,

oo oooooooood

(1) {X:}»>00000000000000000

(2) BE[X4yn| Xy =] = ze~" 00 instantaneous mean a(t,z) = —x 00000

(3) BIX}2 ,|X: = 2] = 2® —2h(2*> — 1) +o(h) O O instantaneous variance b(t,z) = 2 0 [
0on

Ex.3.4. (00000000 1)p,c000000X;=erttoB:0000

(1) s<t000 X, = Xyexp{u(t—s)+o(B,—B,)} 000000000 B,—B,0 F,
O0oooooooooo{X:},>00000000000000000

(2) E[X)|F) = exp{(p+ Lo?)(t— s)X,} D0D000000000000 {X}rs0 0
instantaneous mean a(t,z) = (u+ 10?)2 00000

(3) instantaneous variance b(t,z) = o22> 00000

Ex.3.5. (00000000 2) X, =eoB: 0000 P(X, <y|X,=2)0000000
0000000000000y 000bO00oobooooOoX;, 00000 oooo
p(t,z,y) 0 z,y >0000

xT = —€X e NEEw——
Pl 2sY) = oD o

gboobooooon



Ex.3.6. (Brownian bridge, 00000 1) {X:}o<i<1 0000000000000000

0 f0000 E[f(X.)] = E[f(B.)|B,=0]0000

(1) 00000000 p(t,x,y)zg(t’x’g()i%’g)t’y’o) =\/;_7T
00DO0000D0000000

2)0<t<10000 X, 0000 NO,4(1—+)0000000000

(3) Cov(Xs,Xy) = min{s,t} —st00000O

(4 0<t<10000Y, =B, —tB, 00000 Cov(Y,,Y;) = min{s,t} — st 00000
00000 {X: oD {B;—tBi > 00000000000000000000DO
0oo

g(t,z,y)g(1—t,4,0) 000

Ex.3.7. (Brownian bridge, 00000 2)00000 {X;}>o 0000

(1) 0000000000000 00

(2)0<t<t+h<10000 E[Xt+h—Xt|Xt:x]:—£hDDDDD

(3) 0<t<t+h<10000 E[(Xeen — X2 X, =2]=h+o(h), h—000000O

Ex.3.8. (000000000)X,=|B,/0000

(1) {X;}+>o00000000000000000

(2 000000000{X:}4> 0000000000 p(t,z,y) = g(t,z,y) + g(t, z, —y)
gooooooboon

(3) B[X,] = % Var[X,] = (1—3)mmmmm

™

Ex.3.9. (Brownian meander) T > 0000 {X;}o<t<r O0s € (0, 70000 X, >00
00o0o0obOoooooooooooooboooooo fooOOd

E[f(X.)] = FE[f(B.)|Bs >0,Vs € (0,T]]

000000 {X:}+>0 O Brownian meander 0 0 0
(1) 0000000000000 OO
(2) Ex.2.10. 000000000 p(T,2) 0000002,y > 000 Brownian meander [

ggoooo
1

h(T,x)

p(t7$7y) = g(t,x,y)h(T—t,y)

ggbobobooogn



(3) Ex.2.10, (2) 000000 goOOOO

)
D) o T —q(t o
i S T2 W mﬂh%wlo

000000000000p(t,0,y) =limg_op(t,z,y) O

VorT -y
t

p(taoay) = g(t707y)h(T_tv y)

gobooboogdn

Ex.3.10. (Bessel 10 1) {X;};>0 00s € (0,00)0000 X, >00000000000
000000000000000 f0000

E[f(X.)] = E[f(B.)|B, > 0,¥s € (0,00) ]

000000 {Xi}i>00 Bessel 000000

(1) O0O000O0Doooooooooo

(2) Bessel 0000000 p(t,x,y) O Brownian meander 000000 T — oo 0000
goodooooobobooon

Yott,oy)  ifz,y>0
X

p(t,x,y): 2 2
Yy .
Tg(taoay) IfIL’:O,y>O

goooo

Ex.3.11. (Bessel 00 2) B1,B.,Bs 0000000000000

Y; =v/B1(t)? + B2(t)2 + Bs(t)2 0000

(1) 0000000000 X;3,4=1,2,300000 N(a;,v)00000a?+ a3 + a2 = a?
00000000 (a1,a2,a3) 0000 X2+ X2+ X200000000000000
D000000D0D0D0000 fOO00OO0

Elf (Ysyt)lo{Ys}] = Elf (Xs11)lo{Bi(s), Ba(s), Ba(s)}]

gogoobooogon



(2) (V= 00000000000000000
(3) (1)0000000 z>0,y>00000

P(Xs-l-t < y|Xs = .QZ) = P(Xs-l-t < y|B1(3) = OaBZ(S) = OaBS(S) = x)

1 1 2 2 2
- o372 X1 — dudvd
/ul+v2+w2<y2 (2mt)3/2 P 2(u + o7+ (w = 2)7) pdudvdw

Yo 1 S ()2 1 2
:/o FICIOIE 38— e () gy
00000000000 000000000000000Mm
(4) 000 y00000000000000{Y;}4,> 0000000000 2>0,y>00

000
Y
T

00000000000000 {YihsoO Ex.310. 00000 {X;}4» 000000
00000000

p(t,z,y) = =g(t,z,y)



4. 000000 (0000, Ito formulaOD0 O OO0 )

kt
00000000 {t}so..,000 0,40 n00000000000 ¢, = —0O
n

00000 100000000 {B}0000 Vu=B,,,k=0,1,--,n0000000
Fi=0{B,, s<t}0000

t
Ex.4.1. f(t,:z;)eCQ([O,oo)xR)DDDDDDDDDDDDDDDDDDXt:/ f(t,Bt)dBtI
0

t
0 {]—}}—martinga]eDDDDDDDDDDDDDE[/ f(s,Bs)dB,]=00000
0

n—1

Ex.4.2. (0000000 2000 (dBy)?=dt. ) lim > (Vepr —Vi)? =t (L2-00)00
k=0

000000000000

k
(1) Zy = (Vigr — Vi) =~ 00000{Zk}eo..n1 0 iid 00000 D000E[Z],
n
E[Z2)000000

n—1
(2) lim E[|> (Vig1—Ve)?—¢[*]=00000000000000
k=0

t
1
Ex.4.3. DD/Bsstzﬁ(Bf—t)DDDDDDDDDDD
0

n—1 n—1 n—1

(1) 2) Vi(Vigr = Vi) =) (V2 = V&) =D (Vi — W)’ 000000

k=0 k=0 k=0
n—1

(2)DDDDDDD/BdB = L%~ lim kavk+1 V,) 00000000 20000

n— oo
0

00 (@O)oooo (I)DDDDDDDDDDDDD

n—1

t
Ex.4.4. lim > Vi(Visr — Vi)’ :/ B.ds (I2-00)0000000000000O0O

(1) Zk:Vk(VkH_Vk)Q—/tkHBsdsDDD.E[Zk]:ODDDD Hint: 0000000
000 .
(2) E[Zﬁ]:O(%)DDDDDDDD
(3) j< k0D E[Z;2,)=00000 Hint: E[Z;|F,,] =000000000
(4) (1)(2)(3)000000000000
n—1

Ex.4.5. lim Y (Vi —Vi)® =0 (L2-00) 0000 Hint:
k=0



n—1 n—1

E[Y Vet = Vi)’ P] = Y El(Viyr = Vi) 1+ 2> E[(Viyr = Vi)* (Vi1 — V5)?] 00D
k=0 k=0 k<j

gobboboogobbobuoooobbooon

t t
Ex.4.6. 00O B3:3/ BQdBS+3/ BdsO0OODOOODOOOOOOO
0 0

n—1 n—1 n—1
(1) 3 Z VEWVirr = Vi) = >Vt = Vi) =3 Vae(Vipr = Vi)? = ) (Vs — Vi)
k=0 k=0 k=0

DDDDDD

t
(2) DDDDDDD/B2dB = L% hmZVk Vie1— Vi) O Ex4.4., Ex4.5. 0000
0

n—oo

gogboobooogboo

t t

Ex.4.7. f(t,x),g(t,x) € C*([0,00)xR) 0000 Xt:/ f(t,Bt)dBt,Yt:/ g(t, By)dB;
0 0

O000TIto formula0 00 Z, =X, 00000000000 DOOODOO

dZt = thf(t, Bt)dBt + th(t, Bt)dBt =+ f(t, Bt)g(t, Bt>dt

t t t
HEN / f(t, Bt)dBt : / g(t, Bt)dBt - / f(t, Bt)g(t, Bt)dt U ]:t—martingale agood
0 0 0

E[/O f(t,Bt)dBt-/O g(t,Bt)dBt]:/O F(t B)g(t, By)dt

gooo

Ex.4.8. (dB1dB,=0.)200 000100000000 {B,()}, {Bx(t)}yOO OO
Uk :Bl(tk),Vk :Bg(tk) k= 0,1,---,7”LD ooo

n—1

(1) lim Y (Upyr = Uk)(Vigr — Vi) =0 (L*-00) 00000000 Hint: 000000
k=0
D0000000UO0VODOODOO0OO000O000O

(2) 0000000000

n—1 n—1 n—1

> ViUrsr = Ur) + Y U(Vir = Vi)— > (U1 Vipr — U Vi)
k=0 k=0 k=0

=Y (Uk+1 — Ug)(Vis1 — V).
k=

(3) (1)(2) 00 d(Bi(t)Ba(t)) = By (t)dBs(t) + Bo(t)dBy(+) D000 OO

o

10



Ex.4.9. (000O0O0O0O0O0O, Ex34.0 SDEOOOOOO) e Ryo > 0000000
X, =etMteBe 0000000 Xy 0 SDE

1
dX; = (u+ 502)Xtdt + 0 X;dB;

O0000000000000X, O instantaneous mean [ [ 0 instantaneous variance [
a(t,z) = (u+ 202z, b(t,z) =0 0000

Ex.4.10. (SDEO OO OO0 Ornstein-Uhlenbeck) tD 0 pB>0,0>00000 SDE:

dX, = —BX,dt + 0dB, 000 X, :Xoe—ﬁt+a/ e Pt—s)gp, DODDODO0OOOOODOO
DDDDD{Xt}tZODDDD t>0000 E[Xt]:OXOe—ﬁt,DDDDD 0<t <t,0O0O
0 Cov(Xy,, Xy,) = o — (P — e~ QO D000000D0D00000ODO0OOon

26

0 X, 0000000000 N(O,3 )DDDDDDDDDDDDD

Sp,

Xt

Ex.4.11. (SDE 000 O0OO0OO0OO0OOOOO) SDE: dX;=dB;— tdt gdao

t
1
Xt:(l—t)/ TdBSDDDDDDDDDDDDDDDD{Xt}t>0DDDDtZODD
o L—5S N
0 F[Xy]=0,000000<t <t,000 Cov(Xy,,Xs,)=t1(1—1t,) 00000000
00o0o0o0oooooooooo0 {(Xyh-OOODDOOOODOO

Ex.4.12. (SDEO OO0 OO0 Bessel 00 ) SDE:
1
dX; = —dt+ B, Xo=20>0
Xi

000 300 Bessel 000000 B, (1), Be(t), B3(t) 000000000000 O000D
/B2 + Bo(1)2 + B5(t) 0 300 Bessel 000000000000
(1) Ex.4.8. 00000000 Ito formula 0O O

dX, = dt+z X()dB()

goboboogon
3

. B;(t .
(2) BtzzT(t)dBi(t)DDDDf(x):e@DDDD Ito foromula0 00000000

=1
. 2 .
0 0d(e*Pt) = martingale — %ezﬁBtdt 000000000y = E“P)onooon

2

ygz—%yt,y0:1 000000000000000 Ele43) = 200008, 0

gobbobuoooobobooogonon
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